Prüfung Konstruktion von Rhomben und Rhomboiden

1. Rhombus aus:        s = 41 mm
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2. Rhomboid aus:    a =  44 mm
   b = 3,7 cm 
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3. Rhombus  aus:

s =  45 mm


h = 3,2 cm

4. Rhombus aus:    
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 =  70 0           h = 5 cm

5. Rhomboid aus:  a = 40 mm           ha  =  40 mm
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 =  75 0           

6. Rhomboid aus:  b = 4,5 cm         hb  =  3 cm
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 = 40 0  
7. Rhombus aus:      e =  70  mm          Winkel  BAC = 300
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8. Rhombus aus:    h  =  40 mm            
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 = 500
9. Rhomboid aus:      b   =  50 mm         ha  = 30 mm         e =  90 mm
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